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Sa 56 6a 66 Ta 76 8a ; ;\:v 9a, A 10 11

ITH 1 amr/anr ier | marem 4 o1o 2 matem 27 Ky 9 Mat 26 rexuonor 5 F.* ‘}}'p-iﬁ“x“‘\ & & (1;‘{pa (u3 12 pyc Kpbui 24
2 mar 26 anr/anr 6o 2 mar 4 1©y6 9 mar 27 Kt 30 s 12 7 depan ] ¢ Dye 25 ner |1 st Ipuin 24
3 JmT 3 mar 26 pycd pyc 25 ¢-pa st Kpou 24 pye 28 ukr 30 v 27 T quis 12 ono 2 mer |
4 pye 3 (-pa anr/nem OJIHKP 1 pyc Kpbin 24 | obw Kou 23 | texnonorns 5 mar 26 o2 mar 27 pyc4 npoekr 30
5 (-pa pyc 3 OJJHKP 1 it 25 reo Ocun 29 | pyc Kpoin 24 amr/anr pyc 28 (u3 12 Ky 9 mar 26 mar 27
6 et 1 nut 3 4 aur/aur o6u I{ou 23 | reo Ocun 29 3 12 (-pa ky0 9 61o 2 Mar 21 26 mar an 27
7 (h-pa anr

BT 1 mar 26 Ono 2 reo 29 mar 4 pyc Kpbin 23 ¢z 12 130 5 st 28 aHr/aur mar 27 (h-pa o6 1
2 pyc 3 mar 26 mart 4 pyc 25 u3 12 WKT 30 JT 28 30 5 h-pa xum 24 o0 1 mar 27
3 O1o 2 TEXHOM 5 aur 4 (-pa st Kpoin 23 mar 27 Xum 24 reo 29 mer Ocun 3 JmT 25 Mar 26 npaso |
4 T 3 TEXHOJ 5 pyc 4 T 25 O1o 2 th-pa mar 26 xXHM 24 mar 27 ier Ocun 29 uer | pyc Kpein 23
5 TEXHOJ 5 st 3 o6 | reorp 29 marem 27 010 2 ky0 9 mar 20 auT 25 (h-pa st 4 AHI/HEM
6]  rexHon S pyc 3 }-pa obu | nir 30 pyc Kpbin 23 reo 29 Kky6 9 xum 24 anr/ueM aur 6uo 2
= am‘/ﬂ ?.ILEF/IIBM

icp 1 mar 26 pye 3 air/uem mar 4 mar 27 130 5 ner 12 o6 | pyc 25 po(h pa6 30 aur 0o 2

2 amr/aHr mar 26 mar 4 pyc 25 (-pa reo Ocum 23 obm 1 pyc 28 reorpad 29 (s 12 Xum 24 Mar 27
3 pyc 3 aHr/anr ner | (-pa reo Ocun 29 mar 27 pyc 28 my3 9 gms3 12 pyc 25 ono 2 OBX 23
4 JIHT 3 My3bika 9 (-pa pyc 25 aHI/HeM anr/nem Mmar 20 ner 12 mar 27 Guo 2 uir 30 reo 29
5| my3sbica 9 Jmr 3 pye 4 aur/anr 130 5 (h-pa (-pa mar 26 npod pat 30 mar 27 rco 29 uz 12
6 pye 4 ucr | sep crar 27 uer 12 aur/anr -pa 6o 2 reorpad 29 Mar 26 XHM 24
7 Her 12 Bep crar 27 My3 9 aHI (h-pa (h-pa

uT 1 ner | mat 26 mar 4 130 5 aur/nem anr/uem (-pa OB 23 mar 27 Beem/an 30 Q3 12 pye Kpoin 24
2 Mar 26 pyc3 130 Mar 2 pyc Kpoin 24 mar 27 OBX 23 sz 12 obny | ner Ocnn 29 pyc 4 anr/uem
3 pyc3 130 5 aHr/ieM TEXHOI S (3 12 it Kpour 24 Mar 26 aHr uct Ocnn 29 mar 27 a4 ner 1
4 -pa Ky6 9 pyc 4 TeXHO 5 mar 27 Pz 12 pyc 28 mar 26 aHr/aur JnT 25 o0 | st Kpbin 24
5 Ky6 9 ner | TEXHOM 5 pyc 25 st Kpbin 24 (p-pa 0o 2 pyc 28 Beem/an 30 aHr/nem mar 20 (u3 12
6 130 5 ¢-pa TCXHOJ 5 anr/anr (-pa pye Kpoin 24 s 12 6o 2 it 25 o6y | uxr 30 mar 27
7 aur/anr (h-pa

T 1 Mmar 26 anr/anr mar 3 My3 9 TEXHON 5 mar 27 uer 12 reo 29 pyc 25 ner Ocun 23 st 4 o6 |
2 pyc 3 mar 20 et 1 mar 4 TEXHOI 5 pyc Kpoin 24 reo 29 JuT 28 et Ocin 23 pyc 25 610 2 actpon 12
3]  OJHKP 1 pyc 3 st 4 (-pa mar 27 uer 12 xum 24 oo 2 JmT 25 reo 29 Mar 26 T Kpbin 23
4 ({-pa reo 29 Mys 9 T 25 ucr 12 TexXHos 5 T 28 mar 26 mar 27 xumng 24 npoexr30 npaso 1
5 reo 29 OJIHKP 1 {-pa pye 25 My3 9 TEXHOJ 3 Mar 26 ner 12 xumug 24 mar 27 1kt 30 6no 2
6 ar/anr P-pa pyc 4 Her | pyc Kpoun 3 My3 9 Ouo 2 XM 24 reorpad) 29 st 25 OBX( 23 mar 27
7

Ich 1 npoekt 27 (mzinia 12 ky0 9 aHr/Hem

2 Qusika 12 npoexr27 alr ky0 9
3 OBX23 anr/iem XHM 211 24 HMKT 30
4 anr/anr HMKT 30 Jur X an 4 aut K an 3
5 HKT 30 (-pa pyc X an 4 pyc K an3
6 -pa OBX 23 HKT 30 (-pa
7




